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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 30 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k     tk;sxkAtk;sxkAtk;sxkAtk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %         
General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory.    
 (ii) lghlghlghlgh mÙkj viu h mÙkj&iqfLrdk e sa fyf[k,A 
  Write correct answer in your answer-book. 

SET : C 
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[k.M [k.M [k.M [k.M –    vvvv     
     SECTION – A [ Marks : 10 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½ 

(PHYSICS) 

1. ,d xksy h; niZ.k dh oØ rk f=T;k 10 lseh0 gSA bldh Qksd l nwjh D;k gksxh \  1 

The radius of curvature of a spherical mirror is 10 cm. What is its focal length ? 

2. ekuo us= ftl Hkkx ij fd lh oLrq dk izfrfcac cu krs gSa og gS % 1 

(A) iqryh  (B) n`f"ViVy  

(C) dkWfuZ;k (D) ifjrkfjdk 

The human eye forms the image of an object at its : 

(A) Pupil (B) Retina 

(C) Cornea (D) Iris 

3. rkjs izdk'k ds ----------- ds dkj.k fVe fVekrs izrhr gksrs gSaA 1 

(A) ok;qe aM yh; viorZu (B) izdh.kZu  

(C) fo{ksi.k (D) LisDVªe 

The twinkling of a star is due to ………… of light. 

(A) Atmospheric refraction (B) Scattering 

(C) Dispersion (D) Spectrum  

4. fo|qr / kkjk dk S.I. ek=d gS % 1 

(A) vkse  (B) ,sfEi;j 

(C) dwykWe  (D) oksYV  

The S. I. unit of electric current is : 

(A) Ohm  (B) Ampere  

(C) Coulomb (D) Volt 
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5. ,d lkSj lsy ls yxHkx fdru h fo|qr ÅtkZ mRiU u dh tk ldrh gS \ 1 

(A) 0.1 W (B) 0.5 W 

(C) 0.7 W  (D) 1.0 W 

How many electricity can be produced by a solar cell ? 

(A) 0.1 W (B) 0.5 W 

(C) 0.7 W  (D) 1.0 W 

6. ck;ksxSl e sa lokZf/kd e k= k esa gksrh gS % 1 

(A) ehFksu  (B) dkcZu M kbvkWDlkbM 

(C) gkbM ªkstu (D) bFksu 

Maximum content of Biogas is : 

(A) Methane (B) Carbon dioxide 

(C) Hydrogen (D) Ethane 

7. ,d rkih; fo|qr la;a= e sa ----------- - ÅtkZ fo|qr ÅtkZ e sa ifjofrZr gks tkrh gSA 1 

In a thermal power station …………. energy is converted into electric energy. 

8. xeZ ty izkIr djus ds fy, ge lkSj ty rkid  dk mi;ksx fd l fnu u ghau ghau ghau gha  dj ldrs \ 1 

(A) /kwi oky s fnu (B) xje fnu 

(C) cknyksa oky s fnu (D) ok;q oky s fnu 

A solar water heater cannot be used to get hot water on : 

(A) A sunny day (B) A hot day 

(C) A cloudy day (D) A windy day 

9. oU; mRiknksa ij vk/kkfjr m |ksx gS % 1 

(A) dkxt m| ksx (B) [ksy dk leku 
(C) IykfLVd m|ksx (D) (A) o (B) nksu ksa 
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The industry based on forest products is : 

(A) Paper industry (B) Sports equipment 

(C) Plastic industry (D) Both (A) and (B) 

10. ^fpidks vkUnksy u* fdlls lacaf/kr gS \ 1 

(A) dNqvksa ls (B) VekVjksa ls 
(C) ou ksa ls (D) ck?kksa ls 
The 'Chipko Andolan' is associated with : 

(A) Turtles (B) Tomatoes 
(C) Forest (D) Tigers 

[k.M  [k.M  [k.M  [k.M  –    cccc     
     SECTION – B [ Marks : 08 

¼¼¼¼ jlk; u foKkujlk; u foKkujlk; u foKkujlk; u foKku ½½½½ 

(CHEMISTRY) 

11. )()()()( 22 aqOHCalOHsCaO →+  

Åij nh x;h vfHkfØ;k fdl izdkj dh gS \ 1 

(A) la;kstu vfHkfØ;k (B) fo;kstu vfHkfØ;k 

(C) foLFkkiu vfHkfØ;k (D) f}foLFkkiu vfHkfØ;k 

)()()()( 22 aqOHCalOHsCaO →+  

The above reaction is an example of a : 

(A) Combination reaction   

(B) Decomposition reaction 

(C) Displacement reaction  

(D) Double displacement reaction 

12. fo;kstu vfHkfØ ;k ------------ vfHkfØ;k ds foijhr gSA  1 

Decomposition reactions are opposite to …………. reactions. 
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13. 2CaOCl  ;kSfxd dk izpfyr u ke D;k gS \ 1 

What is the common name of the compound 2CaOCl  ? 

14. fu Eu e sa dkSu&lh / kkrq pkdw ls vklku h ls dkVh tk ldrh gS \ 1 

(A) Ca  (B) Zn 

(C) Ag  (D) Na 

Which metal can be cut by knife easily ? 

(A) Ca  (B) Zn 

(C) Ag  (D) Na 

15. QkWLQksjl dk bysDVªkWfud foU;kl gS % 1 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 4 (D) 2, 8, 5 

Electronic configuration of Phosphorus is : 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 4 (D) 2, 8, 5 

16. ;kSfxdksa dh ,slh Üka`[kyk ftle sa dkcZu Üka`[kyk esa fLFkr gkbMªkst u dks ,d  gh izd kj d k izdk;kZRed  lewg 
izfrLFkkfir djrk gS] mls ------------- dgrs gSaA 1 

A series of compounds in which the same functional group substitutes for 

hydrogen in a carbon chain is called a …………….. . 

17. C;wVsu dk jklk;fu d lw= gS % 1 

(A) C2H6  (B) C3H8 

(C) C4H10 (D) C5H12 

Chemical formula of butane is : 

(A) C2H6  (B) C3H8 

(C) C4H10 (D) C5H12 
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18. dkcZu ijek.kqvksa ds chp dsoy  ,dy vkca/k ls tqM+s dkcZu ds ;kSfxd D;k dgykrs gSa \ 1 

Compounds of carbon which are linked by only single bond between the 

carbon atoms are called ………….. . 

[k[k[k[k .M .M .M .M –    llll     
     SECTION – C [ Marks : 12 

¼¼¼¼ t ho f oK kut ho f oK kut ho f oK kut ho f oK ku ½½½½ 

(LIFE SCIENCE) 

19. ikni e sa tkbye mÙkjnk;h gS % 1 

(A) Hkkstu dk ogu (B) ty  d k ogu 

(C) vkWDlhtu dk ogu (D) bue sa ls dksbZ ugha 

The xylem in plants are responsible for : 

(A) Transport of food (B) Transport of water 

(C) Transport of oxygen (D) None of these 

20. -------------- fofHkUu vaxksa ls #f/kj ,d= djds okil ân; e sa ykrh gSA 1 

…………… collect the blood from different organs and bring it back to the 

heart. 

21. fu Eufyf[kr esa ls fdl inkFkZ dk tBj xzafFk;ksa }kjk òko.k u ghau ghau ghau gha  gksrk gS \ 1 

(A) isfIlu  (B) fVªfIlu 

(C) 'y s"ek  (D) gkbMªksDy ksfjd vEy 

Which one of the following substance is not secreted by gastric glands ? 

(A) Pepsin (B) Tripsin 

(C) Mucus (D) Hydrochloric acid 
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22. gekjs 'kjhj esa fu ;a= .k ,oa leU o; d k dk;Z ------------- rFkk ------------- d k gSA 1 

Control and coordination are the functions of the ………….. and ………….. in 

our bodies. 

23. 'kjhj dh d'ks#d&naM ;k jh<+ dh gìh ----------- -- dh j{kk djrh gSA 1 

The vertebral column or backbone which protects the …………… . 

24. Iy STeksfM;e eas vySafxd  tuu fuEu fyf[kr esa ls fd l fof/k ls gksrk gS \ 1 

(A) [kaMu   (B) cgq[kaM u 

(C) eqdqyu (D) mijksDr lHkh 

Which of the following mode is involved in asexual reproduction in 

Plasmodium ? 

(A) Fragmentation (B) Multiple fission 

(C) Budding (D) All of the above 

25. ijkxd ks'k esa gksrs gSa % 1 

(A) cká ny (B) vaM k'k; 

(C) vaM i  (D) ijkxd.k 

The anther contains : 

(A) Sepals  (B) Ovules 

(C) Carpel (D) Pollen grains 

26. f'k'kq dk izR;sd y{k.k firk vkSj e krk nksuksa ds ------------ ls izHkkfor gks ldrk gSA 1 

Each trait of a child can be influenced by both paternal and maternal ……….. . 
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27. fL= ;ksa e sa ---------------- xq.klw= gksrs gSa % 1 

(A) X  (B) Y 

(C) XY  (D) XX 

Female have …………… chromosomes. 

(A) X  (B) Y 

(C) XY  (D) XX 

28. f} rh; miHkksDrk dkSu&ls iks"kh Lrj ij vkrs gSa \ 1 

(A) izFke  (B) f}rh; 

(C) r`rh;  (D) prqFkZ 

Secondary consumers come at which trophic level ? 

(A) First  (B) Second 

(C) Third (D) Fourth 

29. fu Eufyf[kr esa ls dkSu&lk izkÑfrd ikfjra= u ghau ghau ghau gha  gS \ 1 

(A) ou  (B) rkykc 

(C) >hy   (D) [ksr 

Which of the following is not a natural ecosystem ? 

(A) Forest (B) Pond 

(C) Lake  (D) Crop field 

30. ---------------- ijr lw;Z ls vku s okyh ijkcSaxuh fofdj.k ls i`Foh dks lqj{kk iznku djrh gSA 1 

…………….. layer shields the surface of earth from ultraviolet radiation from 

the sun. 

S 


